EARAROBREBRT —5 XN—ZXBISH—F

2023548268 (K) 10O0EF13H

12R Eaggessyl

C1=Z UY>%—&

\(9&1@1 = ‘[%EH%F&] ~ | & 15000 7@

[AE%] 17%&:1,600,000 F ~ 237&:640,000 @  37&:400,000 F  4375:240,000 @ . 5 3&:160,000 M

RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
O—+40—R i 4 ﬁﬁff' 1:32.9 1-1-1-1 | 37.5| - 1 4401 %\%{%g [z
- =) B
RIRLTFY BT RIAPEYH O |y R
i 8 4 zggfﬁﬁi 1:(343.3 5-5-3-2 | 38.4| — 2 | 450 i?ﬁﬁ_ﬁ G0
. 7 e
RE-UR S:I-YYUIL 08 | Sienms
DYS—T5 R—K # o6 | BAEN (1:34.6) 6-6-5-3 |38.4| — | 7 | 480 %%Kgﬁgcz (0)
. 11/2 Bk
RTVI—FEI— B:DOVI—TO—U— O 15555 —1n
EXN\vE—O—R # 5 | URmT (1:34.6) 4445 387 — | 3 | 499 |FUEFE (B
X:Medaglia d’0ro & :Overheard ’ 2 ;Tn Oak Stud, LLC
=SIILSVINYT o4 %“%Jlolgé 1:34.7 7-7-7-6 | 38.0| — 4 | 52 ﬁfgg Grarl)
= . (3/4) :
RIEVYPH I EEE BYYREYTAYY— ) 590
HYAF v % 4 S%iﬁt‘i)é‘é?i 1:(3%.9 2-2-2-4 |39.2| - 8 479 ﬁ%{:ﬁ (GEi)
5 1 5
RTSYFURR BFIAHRUT )| spmgis
w e it 4 | BEER 1:35.6 8-8-8-7 [38.3| -— 11 | 463 |HOZF AR
7|5|5|¥vo7uyT 5.0 ® oy | NEBE
R:F4—IXIIRATF4 B:STU—-7A BEXERS
8 7| grovaFay o4 %ﬂif: 1:(335;.2 99-9-9 [38.7| — | 12 | 403 g%g; (#F0)
RiKkyI—9)YIT B:EAHIVETTU (=1 BiEsis
917010/ 177 /% t* Ho4 %}i‘gﬂg?% 1:(36).4 3-3-6-8 | 40.5| — 5 | 43 g%—lﬁ (Czzin)
. 1 E—
REVYPH/EE BRAATT @0 | g
S o7 | LS 1:36.6 [12-12-12-12| 37.7 | — 9 | 521 |BEESF— (&)
RiF—RILRYIL B:OREFVIIYT EwILyRI7—L
118111 T—)LFLS—Ib 6 é“ér_giﬁﬁi 1(:36.)7 10-11-11-10| 38.6 | — 6 472 ggﬁg (Aat8)
. 1/2 ~ S —
RANTI—IN B F—RUT T |\ gmai smIr—L4
< TE_ B4 | EE—ER 1:36.9  [11-10-10-10{ 38.8 | — | 10 | 488 |FEAIBE ()
12|56 ;\'_;/ :E:“l/_ o 254.0 (3/4) q |FEEE
R:FAIAIv— B:eHILFE—L (B) H&I-—RL—y3vEET 7
@ 11— —®BIEfI
10—+— 2,8,10,4,1,3,9,5,7,11,6,12
20—F— 2,8,10,4,1,3,9,5,7,6,11,12
30—7— 2,8,1,4,3,10,9,5,7,6,11,12
43—F— 2,1,3,8,4,9,5,10,7, (6,11) ,12
o ILRE
B B 2 180 | | DA K 1-2 2004 % 5E 1-2 370H4 3EE 1-2-3 1,500
7B B 2 120 2-3 5804 B 2-1 5004 3EH 2-1-3 4,320
1 140 1-3 910 /B & 1-2 390
3 3004 =51 2-1 540M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




